Review Test One
Calculus AB
1. Name the domain and range. Use interval notation.

4cos’x—3=0
2tanxcosx—tanx=0

cot’ x—1=0

8cos’ x+14cosx+5=0

2sin’ x—3sinx+1=0

2cos3x=1
2cosxtanx—2cosx+tanx—1=0

a. y=2cosx
b. y=+/x-3
¢ y=v36-x
d. y=i5 6. Graph each.

a. y=—|x—2|+3

Jx b. y=—x2(x+3)3(x—4)3
c. y=x(x—4)(x+4)(x—3)2
d. y=-2sindx+2

Sm 0 oo0o

2. Solve each such that 0<x<2r.

23

. secx=——— — 3
a 3 e. y=(x-3)"-2
-3 f. y=-2csc(3x—7)+1
b. cosx :—2
T
. =tan2| x+— |+1
" e
c. Sihx=——
2 3 V4
d. Cotangent is undefined h. y=-4cot2 X_E —2
e. cosx=0
. 1
f. cotx=\/§ L. y= 2
g. secant is undefined. (X_z)
. _2x-3
3. Evaluate each. ) 946
. 57
a. sin—
4 o1
b. cscO ’ y_x_z
37
c. sec—
pu 7. Solve each. Write your answer in interval notation
d. cot— where appropriate.
131 a. —3x—1>-2
e. tan—2% b. 15x* +24<38x
6 c. Xx*—3x<0
f. cos— d. 3x’+12x*-5x-20<0
8. If f(x)=x"-2, g(x)=2-4x, h(x)=3x-1,
4. Change radian measures to degrees and degrees to find each.
radians. f(x+h)—f(x)
a. 8§ a h
b. 260 b. f(g(h(Z)))
c 7_72-
T4 c. g(h(a))
13
d. =z
9

9. the equation of the line that
a. passes thru (5,-1) and (-2,9)

5. Solve each such that 0<x <27 b. is perpendicularto 4x—3y =2and passes

a. sSinx=cosx thru (4,-2).



c. passes thru(-3,4) and (4,-1) in point slope B 137
form. ' 3
d. passes thru (-2, 50) and (-75, 50) C. 315
D. 260
10. Find the x and y intercept of each 5. —
a. 3x—-4y=9 A F 5z
b, 23 L 4Te
© 7 53k 8. 2,2 228
c. y=2x-3x"—-4x .
C Oorm€m—,—
373
11. Find the intersection points of the system. T 37 St Ir
D' T T T T
3x-5y=-4 4" 44 4
2x+3y=1 g 2F Az
33
- L
Study your Quizzes and Homework. x 57 77 1z 137 177
Answers G. 9°9'9 9 " 9 g
Lo W, 75727 4x
A. D:(—o0,2) R: [-2,2] 272’33
B. D:[3,0)R:[0,%) 6. NEXT PAGE!
C. D:[-6,6]R:[0,6] 7. -
—_oo L
D. D: (=,5)U(5,%) A (-o3)
R: (~o0,0) U (0,) B (39)
E. D:(0,)R: (0,») C. [03]
2 - D. (~n-4)u(=E,E)
A ZIZ 8 -
6 6 A, 2x+h
B. X7 B. 322
6 C. -12a+6
c 2z 9. -
474 A y+1="2(x-5)
D. 0,7
! B +2=2(x-4
rae y+2=3(x-4)
e C. y+1==(x-4)
P I D. y=50
6'6
. L2
2°2 10. -
3. - A. XINT:(3,0) YINT:(0,32)
A —\2/5 XINT: (2,0) YINT: (0,2)
B. UNDEFINED C. XINT: (0,0), (35,0} YINT: (0,0)
C. UI\\I/IEEFINED 11, (-2,3)
p. -3
3
e B
3
PP
2
4. -
A 2z
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